ASSEMBLY INSTRUCTION

SKU CODE: WF309354/WF309355

PAGE 1 of 28




Detail view




Part List (WF309354)

@X1

Footboard Leg

@x1

Footboard Leg

Frame Front Headboard

< Headboard Leg

x2
=

Roof Rail

Mid Roof Rail

Support Panel Headboard

Frame Roof Rail

Frame Roof Rail

Frame Roof Rail

Decorative Chimney

PAGE 3 of 28




Part List (WF309354)

Xl @Xl

§ Frame Bed 3 Frame Bed
@ x1 / x1
Frame Bed Frame Bed
25 x1 26 x1
Frame Bed Frame Bed
\
Bench Leg

32 x1 S 33) x1
= >

N Front Drawer Left Side Drawer
@ X1 @ x] _~
Right Side Drawer Bulkhead
x1 @ X2
Back Drawer Bottom Drawers

x3
N

Support Drawers

PAGE 4 of 28




Part List (WF309355)

@xz%

Panel Headboard Footboard

s Headboard

x1

Panels Headboard

<>

Panels Frame Bed

@Xl

Panel Frame Beenh

<z

Seat Mattress Surface

@x1

Backrest

39 x2
<D

Right Side Shef

x2

®

Legt Side Shef

X2

N

Front Shef

X2

Back Shef

X2

Ny

Bottom Shef

XIO

Slats

PAGE 5 of 28




Hardware List (WF309355)

No. OUTLOOK DESC QTY
@ Dowel 910*40mm 14
Screws 6.5*70mm 11
@ “‘\@ Screws #8%35mm 31
@ Bolts 1/4"*30mm 3
@ Bolts 1/4"*70mm 14
@ Bolts 1/4"*100mm 12
(G) Cross dowel 1/4"*13mm 26
@ S Bolts 1/4"*25mm 12
@ @“‘”\w Screws #8*55mm 2
@ Screws ©6.5*100mm 1
@ J Screws #8*40mm 16
@ M Screws #8*15mm 70
@ ﬂﬁ Connecting Bolt 8
@ @ Connector Housing 8
@ Base L 12
@ Wheels 4
@ @D Base L 3
@ N Screws #8*15mm 8
@ ﬂ Allen key 60*22*4mm 1
@ @ Wood stops 2
@ & Dowel @8*30mm 6

ASSEMBLY TOOLS REQUIRED (NOT INCLUDED)

PAGE 6 of 28




STEP 1:

02

06

01

&

|06
&9
A

@ © @

PAGE 7 of 28




STEP 2:

@ & |
®| L~ |06
© < |06
® _~1 o

PAGE 8 of 28




PAGE 9 of 28




08

® v

STEP 4:

PAGE 10 of 28




STEP 5:

STEP 6:;




03

04
01

STEP 7:

NS

PAGE 12 of 28




01

08

STEP &:

PAGE 13 of 28




01

01
01

STEP 9:

01

01

STEP 10:

STEP 11:

PAGE 14 of 28




STEP 12

\\\\

PAGE 15 of 28




24
06

L|
O] [

STEP 13:

e

y/ /4

A —

PAGE 16 of 28




STEP 14:

24

9|©

06

PAGE 17 of 28




STEP 15: 10)

01

01

STEP 16: =TT

01

02

@ ©|®

PAGE 18 of 28




STEP 18:

PAGE 19 of 28




05
01

STEP 19:

PAGE 20 of 28




STEP 20:

e

12D

5.5"

sV

20

PAGE 21 of 28




STEP 21:

06

STEP 22:

PAGE 22 of 28




06

N @

STEP 23:

STEP 24:

PAGE 23 of 28




STEP 25:

STEP 26:

02

PAGE 24 of 28




02

03

06

03

STEP 27:

STEP 28:

PAGE 25 of 28




STEP 29: /@

16

04

PAGE 26 of 28




04

©

STEP 30:

4

PAGE 27 of 28







